LSQ.A-AS-SST-VD M E elesa TOHATSU

Rmfik - BB
609

SO\

JEERE B2 ViER
HE |EE| ME |HE| BE D
PA+I4S | B | SUS304 | NBR | B ECAT0
=X Haut Dl d| L 1| 2|l h s EEREASEHE

BH) |fHEMN | g
188151 | LSQ.A-25-14-AS-SST-M16x68-VD 25 |M16| 92| 95| 68| 24 [225]| 12 | 12 14 5000 102
188153 | LSQ.A-25-14-AS-SST-M16x108-VD | 25 |M16| 132 | 135 | 108 | 24 |225| 12 | 12 14 5000 166
188155 | LSQ.A-25-14-AS-SST-M16x148-VD | 25 |M16| 172 | 175 | 148 | 24 [225| 12 | 12 14 5000 230
188157 | LSQ.A-25-14-AS-SST-M16x168-VD | 25 |M16|192 | 195 | 168 | 24 [225| 12 | 12 14 5000 262
188251 | LSQ.A-32-14-AS-SST-M16x68-VD | 32 |M16| 92| 95| 68| 24 |225] 15 | 12 | 14 7000 | 108
188253 | LSQ.A-32-14-AS-SST-M16x108-VD | 32 |M16| 132 | 135 | 108 | 24 |225| 15 | 12 14 7000 172
188255 | LSQ.A-32-14-AS-SST-M16x148-VD | 32 |M16| 172 | 175 | 148 | 24 [225| 15 | 12 14 7000 236
188257 | LSQ.A-32-14-AS-SST-M16x168-VD | 32 |M16|192 | 195 | 168 | 24 [225| 15 | 12 14 7000 268
188351 | LSQ.A-40-14-AS-SST-M16x68-VD | 40 |M16| 93| 96| 68| 25 [235] 17 | 12 | 14 | 10000 | 116
188353 | LSQ.A-40-14-AS-SST-M16x108-VD | 40 |M16| 133 | 136 | 108 | 25 |23.5| 17 | 12 14 10000 180
188355 | LSQ.A-40-14-AS-SST-M16x148-VD | 40 |M16| 173 | 176 | 148 | 25 [23.5| 17 | 12 14 10000 244
188357 | LSQ.A-40-14-AS-SST-M16x168-VD | 40 |M16|193 | 196 | 168 | 25 [23.5| 17 | 12 14 10000 276
188451 | LSQ.A-50-14-AS-SST-M16x68-VD | 50 |M16| 95| 98 | 68| 27 |255] 19 | 12 | 14 | 10000 | 127
188453 | LSQ.A-50-14-AS-SST-M16x108-VD | 50 |M16| 135|138 | 108 | 27 |255| 19 | 12 14 10000 191
188455 | LSQ.A-50-14-AS-SST-M16x148-VD | 50 |M16| 175 | 178 | 148 | 27 [25.5| 19 | 12 14 10000 255
188457 | LSQ.A-50-14-AS-SST-M16x168-VD | 50 |M16| 195 | 198 | 168 | 27 [255| 19 | 12 | 14 | 10000 | 287
188581 | LSQ.A-60-14-AS-SST-M16x68-VD | 60 |M16|104 | 107 | 68 | 36 [345] 24 | 12 | 14 | 14000 | 137
188583 | LSQ.A-60-14-AS-SST-M16x108-VD | 60 |M16| 144 | 147 | 108 | 36 |34.5| 24 12 14 14000 207
188585 | LSQ.A-60-14-AS-SST-M16x148-VD | 60 |M16| 184 | 187 | 148 | 36 [34.5| 24 | 12 14 14000 267
188587 | LSQ.A-60-14-AS-SST-M16x168-VD | 60 | M16|204 | 207 | 158 | 36 [34.5| 24 | 12 14 14000 292
188591 | LSQ.A-60-14-AS-SST-M20x110-VD | 60 |M20| 151 | 154 | 110 | 41 [38.5| 24 | 15 14 14000 386
188593 | LSQ.A-60-14-AS-SST-M20x150-VD | 60 |M20| 191 | 194 | 150 | 41 |385| 24 | 15 14 14000 | 417
188595 | LSQ.A-60-14-AS-SST-M20x170-VD | 60 |M20|211 | 214 | 170 | 41 |385| 24 | 15 14 14000 | 452
188597 | LSQ.A-60-14-AS-SST-M20x210-VD | 60 | M20| 251 | 254 | 210 | 41 |385| 24 | 15 14 14000 517

e e e b e B o e e e e e e e e e e A N e e e e

i S m T EaES
- AR -30°C~100°C

188151
[sp. EE3 3

- FHRAL 5005 85 PARLRK, > RF& FDA 1RZE(FDA CFR.21 A EU 10/2011) » &
BRemTE  AERAARNEmSE > BRES
- BBRNEEERERBIEEEE
(WA PEFY
- IIRBE EREAFETE - P e ERURERA
- PIIEEAR TS o B (AR SRR SR AR E B 4%
- BIERERIEE

EEFBETETL



